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28 IF S(J) ¢ = O THEN GOTD 2260

B MEXT ¥ '

8 H=J: GOTD 2386

B FDR 32 = § 10 &

@ IF F(JJ) » © THEN GOTO 2349 :

B 1F -~ S{J3) ¢ = @& THEN GOTO 2400

B NEXT JJ

BH= -1

8 PRINT “SIGN OF 5¢X) 1S ="31H: GOID 2448 :

B PPIHT "THERE 15 HOT HAVE FUHCTIOM S(X) THAT CORRESFOND THIS THEGREN

L]

2428  END |
2448 REW_ x%x T0 FIND VALUE OF FUNET10N ) ans
2458 FOR 12 = f 10 K

C2REB X = A(12)

2508 GOSUB 3848

R FI R R R) RARI RO R
e G A ksl e L PR KD B

. 2028 FFUI2) = FUN

2540 HEXT 12

2568 REM % TO FIND TRE SUPREHUN 4+

568 R = B ,

2688 FOR J1 = 3 TO K

2620 IF P(J1) 3 @ THEN 6070 2580

2648 B = R 4 | . . '
2658 E{BY = (FFid1) - P(JJJ) ;UK % BQ3N) .
2680 NEXT 3% :
2788 C = Et1) _

2720 FOR 11 = 2 10 B S

2746 - IF € > Ei13) IHEN G&OTD 2788

2768°C = E(I1) :

2788 NEXT I o

ZBOB RCM  x¥ TO FIND THE INFEMUM %9

2828 D = D

2648 FOR 13 = 1 10 ¢

2 T = H o 501 :
ZEEBOIF T = 6 THEN  BUTD 2§40

2908 D =D 1 :

o6 QiDy = P13 4 - 1

29408 HEXT 13

2558 6 = B{}1)

S988 1F D o= | THEN LOTD 2085



L]
X3
=

3568
3586
3s00
3620
S ls4p
3648
3sB0
iiek
3728
3740
3740
3785
3880
3IR20
C3B4D
BB
IB80
ieen
3970

RELTS

3850
3540
3580
irdn
SRR
ARIG

¥

J .
F=P+L + F(D)

1 X .

H

D=1

Ay
\O

¥i

KEM YD FIND THE VALUE OF POLYHNDMIAL Gf DEGREE- <=N

NEXT
NEXT
1IF
REM -

B THEN GOTD 3708

EOR 15 =1 TO N

D=1Dx% (x - 2150

HEXT 15

Fl = F +Et D

FRIMNT “THE VALUE 15 = ";PI
PRINT : FRID '
IF Wl ¢ HM THEN GOTD 3340
BOsSUR legR )
-END . '
REM ##% FUNRCTION FL)Y} *¥¢
FUN = 1 7 3 « 2 % ) * 2
RETURKN :

REM  =aq¢ FLOIVING vx

FOR 1 = 1 70 ¥

FZ(1) = F(F) + £ ¥ S{1) » H
HEXT )

X = &

HER

HEOLOR= 3 .

HFLDY &, 10 B 15D

HFELDT D128 10 259,150
HEOLOR= 3 '

X = X)) 7 ) - X

0 COMPUTE FUNCTION S{X)

110 FIND 378 VALUE 7 *

FOR 1 = 2 70 D .
IF 6 < 0()) THEN G010 3040
6 = Qi)
CNEXT 1
REM ®% T0 URECK THE SUP {= THE INF
IF € > O THEN ©0TO 3208 r .Y,
PRINT "THERE EXIST FOLYHOMIAL OF DEGKREE w= "3N.
PRINT “THE SUFREMUM ="3C
PRINT "THE INFEMUM =":8
_'BOTC 3248
FRINT "DOES MOT CORRESPDMDENT THIS 1HEOREH®
ENp '
E=C
PRINT : PRINT : PRINT
FRINT "HOW HANY FDINYS THAT YOU BAN
INPUT HN
Wi =
) FHFUT "PBINT = "3
Hi = H1 ¢ § '
P =t
FOR I = 1 .10 H
L =1
FOR & = § TO N \
- IF J = 1 THEN 607D 3528
L= L



404D
Afken

1066
4128
4140
§350
1169
4180

4288

§228
4249
4240

4280

43008
432D
3348
3350
A3ED
54R9
3320
3440
LB

)

3

100

FOR'1 = 1 10K - § - )
WPLOT A1) X 250,158 - §2@ ¥ F2(1) 10 A(1 4+ 1) & 256,158 - 120 ¢ P2
TN . - -

HEXT 1 ,

FOLE 7&66,0i: FPOKE 7£9.60

POKE 770,.R4: FOKE 771.00

SCALE= 1: kOl= 0
M= 772 -

POKE 232,00: FOKE 233,83

READ & -

IF A = 8 THERN 4368

READ B '

JF B = B THEN 4348

¥ =R 1 8 ¢t A

TFOKE M, XM = N o+

6OTD 4208

FOKE H,A:H = M 1 1

FOKE H,© ' v ‘ : :
DATA &,.2.2.7. 3,47 7.8 2,5, 5.0,4,5%,0,6,4.5,5.4,6,7.2,.6.4.7.8
FOR 1 =1 1D M : ' _

DRAW 1 A1 5(1) ¥ 258,150 - 128 % F({])

NEXT '1 '

RETURN
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. , . . ] »-v : -: . 5 . -
faau1a¥ 5. 2 4 rmundefdl £ (x) = "1:/(3+3x)°  ,x €[0,1]
. . : - .' ] “
waznwunyn 2 30 an (0.1,£(0. 1 )yaz (0.2,£(0.2))
e - o oA , ' '
uaa g ulndluidug p,  Wlutfuavwu [0,1] yau
.. . Y . x b
|2 jnu
CRUN
" ENTER ‘EQUATION (EXAMPLE: FUN=X+1)
: ?FUN-_-H(ME*X)"?
3
) |
HOW HANY POINTS ARE THERE ? 2
 STEP=R. 05
BIVEN 2 DISTICT FD!NTS
98.1.
" BIBN OF S(X) 15.=1 ' ,
THERE EXIST POLYNOMIAL OF DEGREE <= 2

- THE BUPREMUM =.111298431 - =
O THE INFEWUM =33.7975717.

”" Hou MANY PDINTS THAT vou wnwt 10 FIND 178 VAlUE ?7- 7

: *Z,Polnw £ .35

,:qTHE_VﬁLUE 18 =;.e593313n4'}L};{'; ,-'Qg;j.jﬁ??z}fjmgif:¢;af‘~*

.,fZPOINT T ST IR
CTHE vALUE IB =ﬁ.0399seesaagwihg~g;_,f_'

B L
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-
-

o oA . o
r'naguq4n5f2ﬂ5 | rwuna el f(x)= [x +_%_%%Jx , x € [;6,1]

LAZRIMUAYN 5 TR AD (0. 25,f(0 23))
: -_'(0.54,f(o-,54)) ’ (o.7.f_(o.7)) ,_(0-8.1“(0.8))

uaz (0.99, f(o 99)) uﬂqnﬂ%ﬁhﬂiwaTuluUﬁ »,

n1u1ﬂuau v [0,1] Uﬁujﬂ 5 3ﬂu

JRUN
ENTER EQUATION iEXAHPLE FUM=Y+1)

?FUNé(X+(X+!1/(M+ﬂ.1))“X

) |
HOW MANY POINTS ARE ERE 7%
STEP=R.85 = . '
:GIVEN 5 D]STICT PDIHTS

.23 L =
I e O\ -

0.7

70,8 7
. 20,99 _ <. ] : N. X~
- 'USE POLYNDM1AL OF DEBREE ¢ =4 WHICH 18 NOR NEGATIVE

- HOW HANY PoINTS THAT YOU HANT 0 FIND 115 VALUE 7
75 ]

FOINT = 08,23 | B ,
THE_vALug 15 = 137208838 -

POINT = B.54

. THE VALUE 18 = 1.7922788s

n

POINT = 8,7
THE VALUE 18

2. 04877337

FOINT = 2.8

THE VALUE IS = 2,27890407

n

~ POINT = B.9%
THE VALUE 15

2.784L09024
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